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1. ¶Û•ÛÁõ ÍÛ¾ÛäþùÛýÛ¶ÛÛé …¬ÛÙ ›÷¨ÛÛÈÛà, ©Ûé¶ÛÛ ÅÛ“Û¨ÛÛé ÍÛÜÈÛÍ©Ûè©Û ˜Û˜ÛÛë.  14 

 Give the meaning of Urban Community and discuss its characteristics. 

    …¬ÛÈÛÛ/OR 

 …¶ÛäÍÛæÜ˜Û©Û ›÷¶Û›ÛÜ©Û¶ÛÛé …¬ÛÙ …Û¸Ûà, ©Ûé¶ÛÛ× ÅÛ“Û¨ÛÛé ÈÛ¨ÛÙÈÛÛé.  
 Give the meaning of Scheduled Tribe and describe its characteristics. 

 
2. •Ûä›÷ÁõÛ©Û¶Ûà ÜÈÛÜÈÛµÛ ßÛÛÜ©Û…Ûé ÜÈÛÉÛé ÜÈÛÍ©Ûè©Û ¾ÛÛÜÐü©Ûà …Û¸ÛÛé.  14 
 Give descriptive information of various castes in Gujarat. 

        …¬ÛÈÛÛ/OR 

 ßÛÛÜ©Û ÍÛ¾ÛÍýÛÛ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ßÛÛÜ©Û ¸Û×˜Û …¶Ûé ßÛÛÜ©Û ÍÛ×–ÛÌÛÙ Í¸ÛÌ¤ø ïõÁõÛé.  
 Clarify the caste-panch and caste conflict according to Caste problems. 

 
3. ÅÛ•¶Û¶ÛÛé …¬ÛÙ ›÷¨ÛÛÈÛà ©Ûé¶ÛÛ ÅÛ“Û¨ÛÛé ˜Û˜ÛÛë.  14 
 Explain the meaning of Marriage and discuss its characterstics. 

          …¬ÛÈÛÛ/OR 

 ÍªÛà-¸ÛäÂúÌÛ ÈÛ˜˜Ûé¶ÛÛ ¼ÛþùÅÛÛ©ÛÛ ÍÛ×¼Û×µÛÛé¶Ûà ÅÛ•¶Û ÍÛ×Í¬ÛÛ ¸ÛÁõ …ÍÛÁõÛé ›÷¨ÛÛÈÛÛé.  
 Discuss the impact of changing relations between Men and Women on marriage 

institute. 

 
4. ½ÛÛÁõ©ÛàýÛ ÍÛ¾ÛÛ›÷¾ÛÛ× ÍÛÛ¾ÛÛÜ›÷ïõ ïõÛ¶Ûæ¶ÛàïõÁõ¨Û¶Ûà …Ü¶ÛÈÛÛýÛÙ©ÛÛ ÍÛ¾Û›ÛÈÛà ÍÛÛ¾ÛÛÜ›÷ïõ ïõÛýÛþùÛ¶Ûà ¾ÛýÛÛÙþùÛ…Ûé 

˜Û˜ÛÛë.     14 
 Explain the necessity of Social Legislation in Indian Society and discuss its 

limitations. 

    …¬ÛÈÛÛ/OR 

 Í¸ÛéÉýÛÅÛ ¾ÛéÁéõ›÷ …éî¤ø-1954 ÍÛÜÈÛÍ©Ûè©Û ˜Û˜ÛÛë.  
 Discuss Special Marriage Act-1954. 
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5. ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà Š«ÛÁõ ÅÛ”ÛÛé ƒ 14 
 Answer by selecting appropriate options : 

 (1) ½ÛÛÁõ©Û þéùÉÛ ïõýÛÛ ”Û×¦ø¾ÛÛ× …ÛÈÛéÅÛÛé ™öé ? 
  (a) …ÛÜ»õïõÛ (b) ýÛäÁõÛé¸Û (c) …éÜÉÛýÛÛ 

   In which Continent India is located ? 
  (a) Africa (b) Europe (c) Asia 

 (2) …¶ÛäÍÛæÜ˜Û©Û ›÷¶Û›ÛÜ©Û ¾ÛÛ¤éø ¼Û×µÛÛÁõ¨Û¾ÛÛ× ïõýÛÛé ÉÛ¼þù ÈÛ¸ÛÁõÛýÛ ™öé ? 
  (a) …éÍÛ.ÍÛà. (b) …éÍÛ.¤øà. (c) …Ûé.¼Ûà.ÍÛà. 

   Which word is used for Scheduled Tribe in Constitution ? 
  (a) S.C. (b) S.T. (c) O.B.C. 

 (3) ½ÛÛÁõ©Û¾ÛÛ× ßÛÛÜ©Û…Ûé¶Ûä× ¸Ûó¾ÛÛ¨Û ïéõ¤øÅÛä× ™öé ? 
  (a) 2000 (b) 2500 (c) 3000 

   What is the proportion of caste in India ? 
  (a) 2000 (b) 2500 (c) 3000 

 (4) •Ûä›÷ÁõÛ©Û¾ÛÛ× …¶ÛäÍÛæÜ˜Û©Û ›ÛÜ©Û¶Ûà ÈÛÍ©Ûà¶Ûä× ¸Ûó¾ÛÛ¨Û ïéõ¤øÅÛÛ ¤øïõÛ ™öé ? 
  (a) 6 ¤øïõÛ (b) 7 ¤øïõÛ (c) 8 ¤øïõÛ 

   What is the demographic proportion of Scheduled Caste in Gujarat ? 
  (a) 6% (b) 7% (c) 8% 

 (5) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛÛ ÍÛ¾ÛæÐü¾ÛÛ× …½ÛÛ©ÛèïõàýÛ ¼ÛÐäü¸ÛÜ©Û ¸Ûó¬ÛÛ ™öé ? 
  (a) ¶ÛÛýÛÁõ (b) ”ÛÛÍÛÛ (c) ïõÛé¤øÛ 

   In which of the following there is a system of Non-Fraternal Polyandry ? 
  (a) Nayar (b) Khasa (c) Kota 

 (6) ¾ÛÛ©ÛÛ¶ÛÛ ½ÛÛˆ¶Ûà ¸ÛäªÛà ÍÛÛ¬Ûé¶ÛÛ ÅÛ•¶Û¶Ûé ÉÛä× ïõÐéü ™öé ?  
  (a) …×©ÛÅÛÙ•¶Û (b) ¼ÛÜÐüÅÛÙ•¶Û (c) ’õÛéÍÛ ïõÜ¡ö¶Û ¾ÛéÁéõ›÷ 

   What is the marriage with mother’s brother’s daughter called ? 
  (a) Endogamy 
  (b) Exogamy 
  (c) Cross-Cousin Marriage 

 (7) …Í¸ÛèÉýÛ©ÛÛ Ü¶ÛÈÛÛÁõ¨Û µÛÛÁõÛé ïõˆ ÍÛÛÅÛ¾ÛÛ× –Û¦øÛýÛÛé ? 
  (a) 1955 (b) 1976 (c) 1964 

   In which year Untouchability Abolition Act applied ? 
  (a) 1955 (b) 1976 (c) 1964 

____________ 


